&#INo.1

MBI ERRORERUCEBRRICOWNT

ININEBT _ETFKESR

L *l:l5f|5'l‘lﬁ=

Sb IO

3 b
IN
o]
B
S ™V



1 AHOTEZE=DBR P1
2 FHEERICDOULT P2
3 AT 1—IVFEICDW\WT P3

4 FHFEICDWT P4




1 XHDOEZ=DER

1 FHOF:RZ=DHESESIAIL RDEYTT,

I TTT

1 FREREHIT IS

2 BENEICHITTSERDRTII-IINEHET DL

3 TZHABRZREIT DL



2 FRERICDOWLT
1 FIRERICDOUVTERTIREEER)

Z, = \|is N, is
[(IR1TREFR - &R G ame i)
(Bitk 17H) (Bitk 1778) (Bitk 178)
EA04 (M BERE (M/ImytY -2 —EANE ) ZEe (H/1mYizy)
B i ()\ = E( )\ : \ O HARS —
HEAkE e HBEkE K& O te KEX S rl&
10m A BA20M £ T 20 | 13mm 50 13mm 1290 Omi~ 10 0
NMEBRIMET 135 [ 20 110 20mm 1350 1lmi~ 20m 145
REE | 10nET 1,000 msﬁz? TH mm 3 3
NMABLE0ME T 150 | 25mm 120 25mm 1500 21mi~ 30m 165
SOmABLH0 170 30mm 200 » 30mm 2,100 31m~ 50m 190
pur 10mAB20MET 50 | 40mm 230 40mm 4000 5lm~ 100 235
s NMABANMET 170 | 50mm %0 50mm 5500 101m~  200m 280
= 3 OMABASMET 190l | 75mm 1.200 75mm 11,000 201mi~ 320
EAZE | 10mMET 1 400 AT -
i 50mA B 100m £ T 205 | 100mm 1500 100mm 19,000 E5ESH 350
Wﬁ 100m % 87.200m £ ¢ 230 NRBS 12,700 Onmi~ 100m 0
g 0M% 27560 260 F— 101mi~ 170
10mABA50MET 210
m_%;EK 3 |:|\]_ 3 - 2
£ JonEe 2300 50m73ﬁ(f7i OOm;:t’C 55
R 100 % BZ.200m £ 275
00MABZ 560 205
N
AR ULE 9600100128755 0 130




3 RIU1—)V=EICDUWT
SEEODRATI1—IVEICDWNT

R5%F11A EH(R)DHEE
R55%F12H ETRADZH
R5&F128 FZRNADIRE
R6E3H INNBTER=ISXT U/ BT KB S SEHG7K R PIEIESR DIRL
R6FE5H~ EREA DRI

L3R, h—LR—I | KOFEREEICENE
R6F12H~ HTEHEROER



4 ZFHFEICDOUWT

1 ZFHERICDOWNT

NETOEREHBRATEHEDEE R

frit

= EHRDOESE R URIGHE

OMEERR1 2/~
(1 AREFEZS COMBERIEDIZHDIEE ELUTEZIRIEK -WED
>EH(R)DBEKR-BEFEeRLCIRRZIREZL,

(2)AEBZLZ CHaRUCERSNIEICRREN TS H
SHIEIX TOEZRSERYBRYCERZIEEZL,



